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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (CA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struch off.
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C ®mIE A
SECTION A ' SH

QL. Frfafgn % I AR, S e T 150 Tl A & ;
Answer the following in about 150 words each: "+-" R 10x5=50
(a)

(b)

(c)

(d)

(e).

Q2. (a)

ST FET ) T & el A | o 10
‘Accounting is a language of business.’ Comment. ' ‘

mw(ﬁm)ﬁﬁmm(m)%@m%mﬁwaﬂmﬂa
S (S0 g Sldn) woEE A

Discuss Zero Base Budgeting as a tool’ of planning and controlling. 10

ma{%ﬁ%ﬁwaﬁnmé@mm@%mmﬁmﬁmﬁ

- forfT |

- Write a short note on the provisions of Indlan Accounting Standards

regardmg Inventories. . 10
mwﬁﬁumﬁmé@mﬁmaaaﬁﬁmﬁaﬁﬁm 2013%9gawa
- § 7

What-are the main’ 'px‘o{r'isions of Companies Act, 2013 with respect to

the audit related to D1V1dends N 10

faftr msﬁﬁ’w%wﬁaﬁmsﬂﬁﬁamﬁmﬁﬁm

What are the various ‘Heads of Income’ ? Explam bneﬂy each head of
income. . 10

e duw o ﬁ@%ﬂﬁ%%qﬁﬂ%%aﬁﬁmwwmm

fEgel = A |- = 50 9 31 1 & 9,000 T
figaltl = B { = 100 ¥ 3K 1 A F 6,500 FHEA
ﬁar—ﬂm C ?15oqﬁrﬁ|§rﬁaﬁ12ooow

mﬁlﬁ‘d mﬁ%%ﬁﬁmﬁﬁf@ﬁ%m%ﬁ
Raeit — A| = 55 wfi 35 61 @ @ 10,000 FHEET
Taei1 - B| T 95 3 3 1 € 87,000 TR
faei - C | = 156 9f 391 1 QA 11,000 THEA |
figelld A, B3t ¢ & Wit %18 v HR: T 45, ¥ 85 iRk T 130 ot |

Fofia ot arafa® g () ¥ T o 1 W FW % o i s
(AfredrE) =t i T |
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Modern Toys Ltd. had budgeted the following sales for the month of

June :

Toy - A

9,000 units at ¥ 50 per unit

Toy — B

6,500 units at ¥ 100 per unit

Toy — C

12,000 units at T 150 per unit

As against this, the actual sales were as under :

Toy - A

10,000 units at ¥ 55 per unit

Toy — B

7,000 units at T 95 per unit

Toy - C

11,000 units at T 156. per unit

The cost per unit of Toy A, B and C was ¥ 45, T 85 and T 130
reSpectlvely Compute the different vananc'es to explam the dlﬁ'erence
between the budgeted and actual proﬁt ' 20

(b) w7 e fa. ﬁamaﬁ%%s@rﬁmﬁﬁm%f‘@aaﬂmmgé

fﬁﬁ%%%mﬁ f@uama

lis ARSI A Rrare - T
(1) s awfiEf 2% -
(2) Y% o9 28% -
(3). Faeht e 12% 1,89,900
(4) fomo == 5% - 58,400
(5) YITEA EF 2% 66,700
mﬁaﬁf%%qaaﬁaﬁaﬁ?lsmooo%mmﬁﬁm%ﬁaamﬁvm
FE H T B >

() H@mw(aﬁéaﬁ)ﬁﬁwﬁmm
(ii) mﬁaﬁﬁmmmw(m)l
(iii) Hﬁamﬁm%ﬁaaﬁaﬁﬁﬁlouﬁmﬁmm,a’tm
(@) |
(iv) - aﬁmﬁﬁﬁwﬁaﬁﬁﬁ5mﬁa@ﬁﬁ€tm,
. AR (@) |
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An analysis | of costs of Namya Polymer Ltd. led to tl'l'(;,'.j'following

information :

Cost of Element Z:I;’ba};;esgf:; g;:f d? |
(1) Direct Materials 32% —
(2) Direct Labour 28% —
(3) Factory Overheads 12% 1,89,900
(4) Distribution Expenses 5% 58,400
(5) Administration Expenses 2% 66,700

Budgeted Sales for the next year are Z 18,50,000. You are required to
determine

(i)  the break-even sales volume.

(ii) the profit at the budgeted sales volume.

(iii) the profit, if actual sales drop by 10 percent of budgeted séles.
(iv) the profit, if actual sales increase by 5 percent of budgeted sales.

© ‘affa e w0 % e s e Hif |
Describe the salient features relating to Value Added Tax’.

Q3. (a) i fa. 4 1,00,000%%2%@@%:%11,%@ F 100 1 & 3T 6%
' a%méﬁ%%qaﬁmam%ﬁm,ﬁﬁﬂ%ﬁaﬁiwéﬂﬁ:

AR W T 25
AEHA T T 34

weor 3t 3if<m Wi W T 35
9oooom#mmm@aﬁwmﬁﬁwwmml
1000ﬁaﬁmuwaﬂta¢ﬁmmﬂﬁ®ﬁmwmmgﬁ | 3
1ooosﬁaﬁmmﬂﬁfwaﬁ¢amﬁmt@sﬁﬁ%mmm(qﬁﬁz)
WWWIWﬁﬁmoﬁaﬁﬁ@m(gﬁﬁﬁ@m)%aﬁm%go
ek T YA ﬁv‘rﬁﬁ(ﬁmmnmi

e . 61 5) e ) (30 %) o (i) et @ st i |
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ABC Ltd. invited applications for 1,00,000 equity shares of ¥ 100 each
at a discount of 6% payable as under :

On Application ¥ 25
On Allotment ¥ 34
On First and Final Call T 35

The applications were received for 90,000 shares and all of these were
accepted. All payments due were received except the first and final call

on 1,000 shares, which were forfeited after doing all legal formalities.

500 shares out of them were re-issued at T 90 each as fully paid-up.

Pass entries in (i) the Cash Book and (ii} Journal Book of ABC Ltd.

b) TR %, f1. F A, I8 5 3 31 9 2014 1 9, Frafafaa &

gfere g Ffee T

g 30,72,000 | 3R gSft 40,00,000
LITE 33,00,000 | 12% fes=x 30,00,000
WiF (1-4-2013) 7,50,000 | @TY-gI @ren 2,62,500
TN 8,70,000 | 2a fa= 3,70,000
e 2,50,000 | VTS (SER) 4,00,000
FhE AR dF 4,06,500 | fosfi (fashar) 41,50,000
CEap iR Ui 75,000 | \moTy smfafy 2,50,000
S=iTw iy vaw 3,92,500 gﬁlﬂm gm 35,000
wlicgifar 18,50,000
IR =3 50,000
EEEce] 9,79,800
T = 68,350
am 2,02,250
& W 21,100
fEd=r =91 Yew 1,80,000

1,24,67,500 1,24,67,500
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G)  HE T 15% A TeAerd Hif | o

G) SRR =@ A T 5,000 9% TR A IR | |

Gi) o) o W A = E 2 | |

() ﬁﬁ?ﬂﬂiﬂﬁ%méﬂaﬁq{%mmaﬁﬁm

(v) - 35% % e W o FH Fard HIf |

(vi) 31T, 2014 W Vi® T 9,50,000 1 |

(vii) Wﬂﬁaﬁtﬁ%mfzsoooéﬁ@aﬁmmﬁmw

frFRT @R o
Frft  afm oF A AR | |
The following are the balances of Manohar Co. Ltd. as on 315* March,
2014 : N - )
| Debit R " Credit oz
Premises ‘ ©30,72,000 {Share Capital 40,00,000
_Plant S ~33,00,000 |12% Debentures 30,00,000
Stock (1-4-2013) 7,50,000 | Profit and Loss Alc . . 2,62,500
Debtors 870000 |Bills Payable - 8,70,000
Goodwill : 2,50,000 | Creditors - 4,00,000
Cash and Bank 4,06,500 |Sales © 41,50,000
Calls in Arrear | 75,000 Ger:leral Reserve 2,50,000

Interim Dividend paid 3,92,500 Bad debts provision

as on 1-4-2013 35,000
Purchases : 18,50,000 -
Preliminary Expenses 50,000
Wages 9,79,800
General Expenses 68,350
Salaries 2,02,250
Bad debts _ - 21,100
II))aeil()ic-:-nture . Interest 1,80,000
' 1,24,67,500 | . 1,24,67,500
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Q4.

(a)

(b)

(c)

Additional Information :

(1)  Depreciate Plant by 15%.

(i1) Write-off ¥ 5,000-from Preliminary Expenses.

(iii) Half year’s Debenture interest due.

(iv) Create 5% provision on Debtors for doubtful debts.
(v)  Provide for Income Tax @ 35%.

(vi) Stock on 315t March, 2014 was T 9,50,000.

(vii) A claim of ¥ 25,000 for workmen’s compensatlon is bemg disputed
by the company.

Prepare Final Accounts of the company. | o : 30

amfamaﬁaﬁm(mﬁﬁ%n) aﬁmwﬁaﬁm(ﬁﬁaaﬂ@n)%aﬁa
faiga fifom |

Distinguish between Job Costing and Process Costing. "~ " - - 20

| e, T wE o I o 6 erard R @ Rl T %

for st arfufaem Y Sienfiss vt 1 e HIfTT |

State the basic conditions of Income-Tax Act to' deterine the
residential status of an individual; a company and all other _persons. 15

m%m@mmw@ﬁmm%wwm%
I 8§ HAfA | we oot dar Hife |

Prepare a note on deductions from gross total income in respect of
certain incomes and certam payments for- 1nd1v1duals - 15
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SECTIONB

Q5. frffiad % I i, S Y ST 150 WeG H B |
Answer the following in about 150 words each : cr 10x5=50

(a)

(b)

(c)

(d)

(e)

‘%ﬁw@wﬁaﬁ%aﬁmaﬁfﬁﬁﬁéﬂmm%ﬁﬁéﬁ
AT T R |7 HATEEee Jodih i |

“Internal Rate of Return Method of Capital budgeting is considered to be
superior to Payback Period Method.” — Critically evaluate. '

o Geen 6 Reifel % ) Frw s 3T SR (i) RS STt
JUITH < ATER A 3t ot <t AT o Wi R R @ 7
What is the relationship between leverage and cost of capital as per the

(i) net income approach and (il) net opérating income approach of
theories of capital structure ? ‘

S50 ) S A AT O B oA 8 | Wi § Jeh-a o adue TG
T TATAEATCHR qoaTehd T |

Banks are permitted to enter the insurance sector. Critically evaluate
the current scenario of Bancassurance in India.

g ot A 3 o 3, am@gﬁma@qﬁmﬁa (w TheE)
1 Tt W U (mifee giwrl we) 3R i) sFeamaty fafaa %
WWWW(W%WW)W@WW|

Write a note on two important issues of (i) the ratio of current assets to

salé (relative asset liquidity) and (i) the ratio of short-term financing to-

long-term financing (relative financing liquidity) in formulating working
capital policy.

W%maﬁmﬁw%aw%wﬁwﬁﬁa%?

What is the justification for the goal of maximising the v_vealth of
shareholders ?
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Q6. (a) Trefufes qom-wl, 98 f 3 Rwmw, 2012 3k 2013 § 9, 3 s AR
g faatm it Frisfia 45t A oftgdal 6t arpeEh dor &l 2

- LG 2012% | 2013 %
I Gt 2,00,000| 2,50,000
T Imfafa 50,000 60,000
AW -FIH 30,500 30,600
drataty x=m 70,000 —
fafay den 1,50,000| 1,35,200
R & e yragm 30,000 35,000

5,30,500{ 5,10,800

gfefeat 2012 | 2013 %
iy 3R W 2,00,000| 1,90,000
St ' 1,50,000| 1,69,000
[SAED 1,00,000 74,000
fafey Ter . 80,000 64,200
THe! 500 600
GEd — 8,000
g (Tefaa) — 5,000

5,30,500| 5,10,800

2013 F FHTH B T ¥ F A s T Asfafea

(1)
(i1)

(ii1)
(iv)
(v)

(v1)

C-DRN-N-EPEA

T 23,000 1 AN 37 fHI1 W |

% 9 Ol h gt € 50,000 § @6 T8 REeh gl
o A g8 | @i ittt § € 20,000 W &, T 25,000 H
weftd 3t gam T 5,000 H oA

zg% A oft el = 8,000 § @O T |

TeRE w2 @ o m gl € 12,000 S oft |

¥ & A FEgu™ fRam T 3 W T 33,000 |

Tefia 6 fshl ® = 200 H 7R wEE ey w2 @ el W
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.....

‘are required to prepare a Statement of Funds Flow and’ Schedule of
‘ Changes in Worklng Capital : .

" From the followmg Balance Sheets as on December, 2012 and 2013, you

Liabilities 2012F | 2013 %

" 'Share Capital - 2,00,000 | 2,50,000
" General Reserve : . 50,000] 60,000
Profit and Loss 30,500 30,600

. Long Term Loan .. 70,000|. - —
. Sundry Creditors 1,50,000 . 1,35,200
‘Provision for Tax 30,000[ 35,000

5.30,500| .5,10,800

. Assets 2012% | . 2013 %

 Land and Building 2,00,000|" 1,90,000

* Machinery © 150,000 1,69,000
steck 0 1,00000] 74,000

| SundryDebtors. | .. 80,000 64200
Cash : 500 600

e Bank o e — | 8,000

Goodwill . - — 5,000

5,30,500 5,10,800

' Addltlonal 1nformat10n durmg the year ended 2013 is as under
-,(i)' ' D1v1dend of T 23 000 was paid.

(ii) Assets of other company were purchased for T 50, 000 payable in
. shares. Assets purchased were Stock of T 20,000, Machmery
¥ 25,000 and Goodwill ¥ 5,000.

: (iii): Machinery was further purchased for ¥ 8,000.
(iv) Depreciation written off on machinery ¥ 12,000.
" (v) Income Tax provided during the year ¥ 33,000.

(vi) Loss onsale of machine ¥ 200 was written off to General Reserve. 20
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(b) ﬁm%%a@ﬁﬁﬁﬁm%m%émaﬁwm(@aﬁﬁzm)
&1 e hif, fees forg et A f () 35% 6 :ER, (i) = 6
FH T 10%, (i) FEd= # 3ifda 723 = 1,000, (iv) faa — 20 ¢

(1) ﬁmlo%ammﬁm%mmm(mﬂ
) 2%

@) zreeamo/oa;agmaamgammmg%%r
206&%%%1@%(@)@3@@%%?1@%&

o % forg adwm e wre fergEn § |
LT 1% fn | 9% | 0% | 1%
R 1 T Gt e 1 - 20 7 % Ree | 9.120 | 8514 | 7963
ST F FE A 2041 0-178 | 0-149 | 0-124

Calculate the explicit cost of debenture for each of the .following
situations, assuming (i) tax rate of 35%, (ii) coupon rate of 1nterest 10%,

(iii) face value of debenture ¥ 1 000 (iv) matunty 20 years

(1) If debentures are sold at'a premium of 10% and ﬂoatatlon costs

are 2%. |
(2) If debentures are sold at a discount of 5% and'ﬂ_o-atapion costs

are 3%. . ' : 20
The present value factor of an annuity of ¥ 1 for 20 years and present

value factor of ¥ 1 for the 20th year are as under :

For¥1 . 9%k 10% | 11%

PV factor of Annuity for years 1-20 | '9.199 | 8514 | 7:963

PV factor for the year : 20t - | o8, _0_:1'_49_' 0-124

(©) ﬁmaﬁtaﬁa%ﬁmm%mamﬁ;ﬁmgam (wiaTte
{rgeraftn) @ @ aread 8 7

What is Corporate Restructuring with special reference to Mergers and
Acqu151t1ons ? A _ _ 10
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Q1. @ % f = g, S i R 31-12-2013 1 o, Frefefiad % $9ER R :
qoT—TT (31-12-2013 1)

2gand T - gfterafEt T
e §&ft (T 10 I W) 60,000 | frer womé Wit 1,50,000
109 Eertafy T 80,000 ‘e tfewfe 50,000
yfienfa ar 20,000
T GHATY 40,000 |
2,00,000 2,00,000

m:ﬁmgawﬁamﬁqmﬁagw(ﬁaﬁa;bh) 3.0 ¥ | sEh B

(fBR) sareM aFd 2 1,00,000 § | 38R Afer e @l w1 iRt %

1Y S 40% ¥ | A RA35%E |

) 'Wﬁ?ﬁﬂh,ﬁ?ﬂﬂ?ﬂaﬁ'aﬂtﬁgﬁ’ﬁﬁah@ﬁmmm
HINT | S

(ii) aﬁuﬁiﬂmaﬁq(EPS)(m)?3343'{‘(@)?0(51321)3“1,??[@1&131*!1
T Y T80 AW (EBIT) % BWIT &R ! fFRgiear Hifsg |

Rudra Ltd.’s Balance Sheet as on 31-12-2013 is as under :
- Balance Sheet (As on 31-12-2013)

Liabilities <  Assets T
;E;‘ig:-‘); Sra;’}i‘;a:e) 60,000| Net Fixed Assets  1,50,000
10% Long-term Loan 80,000 Ct_?lrrent Assets | 50,000
Retained Earnings 20,000 -

Current Liabilities 40,000 ‘
2,00000( - 2,00,000

The company’s total assets turnover ratio is 3-0. Its fixed operating costs
are T 1,00,000. Its variable operating costs to sales ratio is 40%. The

income tax rate is 35%. , |

(i)  Calculate the Degree of operating leverage, financial leverage and
combined leverage.

(i) Determine the likely level of EBIT if EPS is (a) ¥ 3 and
{(b) ¥ O (zero). L

C-DRN-N-EPBA . 2
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rHark e

(b) A Fe R . 9 W e T 20 Wit AR R | o i iy
#1 AT=NH G (FeHa @ A% fed) 12 vhiva 2 3R goffewtr g€ 10 v
2 | 1o & W Hisd i T i g Frefafea s frafon fifs
(i)  H 1 3EGH o9 TR (F-313) AU
(i) 3939 TR W IR St Figg
Earnings per share of Shree Laxmi Textile Ltd. is ¥ 20 per share. The
company has an internal rate of return of 12 percent and the
capitalisation rate is 10 percent. Determine the following using Walter’s
Dividend Model :

(i)  Optimum payout ratio of the firm.
(ii) The price of the share at this payout.

) Tre=fafea S =1 seama #3147, = R T ger-am w1 qu Hif

o~
ISft TR Smamd T giErafR T
HEECIRCl 2,00,000 | T I ITH ?
BIRPIGRE D 3,00,000 | HTerg= ?
FUEE (FFRR) s fm 7 | FEw ?
| EETA| ?

4 Fd

= SRR} :

G) T w0 AR Taa wiforrd (THf) 1 31U ;050 10
(i) P IRERET W/ IwEd ;2

(iii) FhE HATHI (ATH) TSR : 30%

(iv) oftoa smgw srafy (360 fom wft ad w enanf@) : 40 &

(v) TIEE e (S A W ArTa SR Ay % S| W AT ©
NYIE) : 3 IR

(vi) et A9 (VS 2w M) : 0-75: 1.0
C-DRN-N-EPBA | 13



Q8.

(a)

(b)

(c)

Using the following information, complete the Balance Sheet given

below :
Balance Sheet

~ Capital and Liabilities < Assets T

Equity Capital _ 2,00,000 Plant and Equipments ?

Retained Earnings 3,00,000 | Inventory ?

Creditors and Bills Payable ? Debtors ?
Cash ?

Total ' Total

Other Information :

(i)  Total debt to Net worth Ratio is : 0-5: 1-0

(ii) Turnover on Total Assets : 2

(ili) Gross Profit margin : 30%

(iv) Average Collection Period (based on 360 days year) : 40 Days

(v) Inventory Turnover (based on cost of goods sold and year end
inventory) : 3 times

(vi) Acid Test Ratio: 0-75: 1-0 ' 20

(1) T SR 3R (i) YSft 99N wos (Segiew) & ey # wefien oft fgdas
IO <t AMHATAT HT T TS Yeaich Hi |

Critically evaluate the functioning of primary and secondary markets in
relation to (i) money market and (ii) capital market instruments. 20

e Gof (G Hew) Teahe R @ frw s fm 2 2 S o

faftr & fafim yer T 8 2

How is venture capital different from traditional financing ? What are
the different types of venture capital funds ? . 10

Tt s % gfean 3R () 3wt Mg Aift o () 3wkt 3w Aify =
AT TcHS JedTeh T |

Critically evaluate Reserve Bank of India and (i) its monetary policy and
(11) its credit policy. . 20
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